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QUESTION 1

Which tool allows users to connect to a DB2 database using a wizard?
A. Control Center

B. IBM Data Studio

C. Universal Connection Expert

D. DB2 Connection Pool Manager

Correct Answer: B

QUESTION 2

Which two statements are true about foreign key constraints? (Choose two.)

A. The foreign key constraint columns must be supported by an index.

B. The foreign key constraint columns must be defined as NOT NULL.

C. The number and data types of foreign key constraint columns must match the parent key.

D. The columns of one foreign key constraint cannot be used in another foreign key constraint.

E. To define a foreign key constraint there must be an associated primary key or unique key in the same or different

table.

Correct Answer: CE

QUESTION 3

Which DB2 object limits the user\\'s ability to retrieve data from a table by defining a SQL statement in the object?

A. View

B. Index

C. Trigger

D. Check constraint

Correct Answer: A

QUESTION 4

When a COMMIT statement is executed, what happens?
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A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.

D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D

QUESTION 5

Which statement about large object (LOB) locators is true?

A. A LOB locator is a data type that is used to store LOB data in binary files.

B. A LOB locator is a data type that is used to store LOB data in a database.

C. ALOB locator represents a value for a LOB resource that is stored in a database.
D. A LOB locator represents a value for a LOB resource that is stored in a binary file.

Correct Answer: C
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